## APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	SHAWN BEER		Page 1 of				
Project: RESURFA	ACING 2022 - ASPHALT BASE PATCHI	NG AND BASE PATCH	GRINDING				
Contract Number:	8619		Payment Number:	2			
DO NOT WRITE	EIN THIS BOX - TO BE COMPLE	TED BY CITY ENGINEER	RING PERSONNEL ONL	Y			
TOTAL FROM PAGE:	4		339,028.50				
LESS RETAINAGE:			16,951.42				
SUBTOTAL:			322,077.08				
LESS PREVIOUS PAY	MENTS:	<del>,</del>	257,125.57				
CURRENT PAYMENT	DUE:	<b>FA</b> OR STATE OF THE STATE OF TH	64,951.51				
by this ap	Ro		ith the contract documes $8/9/2022$				
The unde	FICATE FOR PAYMENT: ersigned Inspector certifies that to the oplication for payment has been complete to payment f	oleted in accordance wi	ith the contract docume	ents,			
PLEASE PROVIDE THE	TIME PERIOD FOR THIS PAYMENT R	EQUEST:	FROM: Last 5/3/22 TO: 8/11/22				
PLEASE PROVIDE THE CA Brumm Trucking,	CONTRACTOR/SUBCONTRACTORS 1	THAT WORKED ON PRO					
	ANALEST DEGLISCE CHALL DE CHEC	TTED TO THE ENGINEE	D //NCDECTOR				

NOTE:

SIGNED PAYMENT REQUEST SHALL BE SUBMITTED TO THE ENGINEER/INSPECTOR.
PARTIAL PAYMENTS CAN BE PROCESSED EVERY TWO WEEKS.

13703-402-200 Mill, Pave & Castings 83252-54410 Sanitary Water Accounts (N=5)

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

PAYNE & DOLAN, INC.
RESURFACING 2022 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING CONTRACT NO. 8619

PAYMEN	IT NO. 2	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
13703-40	2-200 Mill, Pave & Castings												
10790	RR INSURANCE	= 1.00	EA	\$150.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40202	HMA PAVEMENT 4 LT 58-28 S	50.00	TON	\$90.00	\$4,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40218	TACK COAT	25.00	GAL	\$1.50	\$37.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40231	ASPHALT DRIVE & TERRACE	25.00	SY	\$32.00	\$800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40251	ASPHALT MATERIAL FOR CURB	50.00	LF	\$8.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40332	BASE PATCH GRINDING, METHOD 2	7,500.00	SY	\$23.00	\$172,500.00		440.00	\$10,120.00	1,780.00	\$40,940.00	2,220.00	\$51,060.00	29.60%
40333	BASE PATCH GRINDING, METHOD 3	1,500.00	SY	\$33.50	\$50,250.00		0.00	\$0.00	2,300.00	\$77,050.00	2,300.00	\$77,050.00	153.33%
40335	BASE PATCH GRINDING, METHOD 5	250.00	SY	\$47.00	\$11,750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40351	ASPHALT BASE PATCHING, 3.5" INCH	25.00	SY	\$30.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40352	ASPHALT BASE PATCHING, 5-8 INCH	25.00	SY	\$35.00	\$875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40353	ASPHALT BASE PATCHING, 8-10 INCH	25.00	SY	\$40.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40354	ASPHALT BASE PATCHING, OVER 10	15.00	SY	\$50.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40362	ADJUST ACCESS STRUCTURE	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40501	CASTING - RESURFACING INFRARED SEAMLESS PATCHING	100.00	SF	\$8.50	\$850.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90001	RR FLAGGING	5.00	HOURS	\$150.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS			·	\$245,562.50		<u>.</u>	\$10,120.00	J	\$117,990.00	] .	\$128,110.00	52.17%
83252-54	I410 Sanitary	-					Ī		İ		İ		ĺ
10790	RR INSURANCE	1.00	EA	\$150.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40202	HMA PAVEMENT 4 LT 58-28 S	150.00	TON	\$90.00	\$13,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40218	TACK COAT	50.00	GAL	\$1.50	\$75.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%

\*\*\*\*\*

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

PAYNE & DOLAN, INC.
RESURFACING 2022 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING CONTRACT NO. 8619
PAYMENT NO. 2

FAINEN	N1 NO. 2	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40231	ASPHALT DRIVE & TERRACE	25.00	SY	\$32.00	\$800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	50.00	LF	\$8.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40332	BASE PATCH GRINDING, METHOD 2	3,500.00	SY	\$23.00	\$80,500.00		150.00	\$3,450.00	0.00	\$0.00	150.00	\$3,450.00	4.29%
40333	BASE PATCH GRINDING, METHOD 3	1,000.00	SY	\$33.50	\$33,500.00		0.00	\$0.00	111.00	\$3,718.50	111.00	\$3,718.50	11.10%
40335	BASE PATCH GRINDING, METHOD 5	250.00	SY	\$47.00	\$11,750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40351	ASPHALT BASE PATCHING, 3.5" INCH	25.00	SY	\$30.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40352	ASPHALT BASE PATCHING, 5-8 INCH	25.00	SY	\$35.00	\$875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40353	ASPHALT BASE PATCHING, 8-10 INCH	25.00	SY	\$40.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40354	ASPHALT BASE PATCHING, OVER 10 INCH	15.00	SY	\$50.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40362	ADJUST ACCESS STRUCTURE CASTING - RESURFACING	2.00	EACH	\$200.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40501	INFRARED SEAMLESS PATCHING	200.00	SF	\$8.50	\$1,700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90001	RR FLAGGING	5.00	HOURS	\$150.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS			•	\$146,900.00	!	'	\$3,450.00	•	\$3,718.50		\$7,168.50	4.88%
WATER	ACCOUNTS ( N=5)												
10790	RR INSURANCE	1.00	EA	\$150.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40202	HMA PAVEMENT 4 LT 58-28 S	50.00	TON	\$90.00	\$4,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40218	TACK COAT	50.00	GAL	\$1.50	\$75.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40231	ASPHALT DRIVE & TERRACE	50.00	SY	\$32.00	\$1,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40251	ASPHALT MATERIAL FOR CURB FRONT FILL	50.00	LF	\$8.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40332	BASE PATCH GRINDING, METHOD 2	6,000.00	SY	\$23.00	\$138,000.00		1,100.00	\$25,300.00	1,900.00	\$43,700.00	3,000.00	\$69,000.00	50.00%
40333	BASE PATCH GRINDING, METHOD 3	4,000.00	SY	\$33.50	\$134,000.00		600.00	\$20,100.00	2,300.00	\$77,050.00	2,900.00	\$97,150.00	72.50%
40335	BASE PATCH GRINDING, METHOD 5	2,500.00	SY	\$47.00	\$117,500.00		200.00	\$9,400.00	600.00	\$28,200.00	800.00	\$37,600.00	32.00%

\*\*\*\*\*

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

PAYNE & DOLAN, INC.
RESURFACING 2022 - ASPHALT BASE PATCHING AND BASE PATCH GRINDING CONTRACT NO. 8619
PAYMENT NO. 2

I A I WILL	11 NO. 2	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40351	ASPHALT BASE PATCHING, 3.5" INCH	25.00	SY	\$30.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40352	ASPHALT BASE PATCHING, 5-8 INCH	25.00	SY	\$35.00	\$875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40353	ASPHALT BASE PATCHING, 8-10 INCH	25.00	SY	\$40.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40354	ASPHALT BASE PATCHING, OVER 10 INCH	15.00	SY	\$50.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40362	ADJUST ACCESS STRUCTURE CASTING - RESURFACING	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40367	ADJUST VALVE CASTING, METHOD #1 RESURFACING	1.00	EACH	\$150.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40369	INSTALL ADJUSTABLE VALVE BOX RISER	4.00	EACH	\$100.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
40501	INFRARED SEAMLESS PATCHING	100.00	SF	\$8.50	\$850.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90001	RR FLAGGING	5.00	HOURS	\$150.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTALS				\$401,950.00		'	\$54,800.00	<b>.</b>	\$148,950.00		\$203,750.00	50.69%
CONTRA	ACT TOTALS				\$794,412.50	•		\$68,370.00	=	\$270,658.50	=	\$339,028.50	= 42.68%